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Question Number : 1 Question Id : 716447751 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which of the following countries did the India and Japan 2+2 Ministerial Dialogue take place in November 20197

& 808 2 B3085° 2rCBBF0 SVBOID @D 2+2 oGO Dozres 2019 He90ea6e5° 2800H?

Options:
India

1. v @00d%0



Japan
7w Bard

China

3w B

Bangkok
4. = AusES

Question Number : 2 Question Id : 716447752 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

When is International Human Rights Day observed?
@o@gﬂeﬁacm DT 3PEN 0 BT Do JPYED BEEDLI0ETE?

Options:
2 October

1 « 2 @§m5

14 November
7w 14 dodoerd

10 December
3.« 10 &ooexd

6 December
4 = 6 &oedd

Question Number : 3 Question Id : 716447753 Question Type: MCQ Option Shuffling : Yes Negative MarksDisplay Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following beauty pageants did Jamaica's Toni-Ann Singh win?

& 800 eomre TS B 2205 G, E5°D-e5d Voh AecEH?

Options:



Miss Universe 2019
1 = SXI mﬂﬁﬁg 2019

Miss World 2019
7 o aXIRa -ﬁ-dg 2019

Miss Asia Pacific 2019
3 % DR eFed00T WS 2019

Mrs. World 2019
4. % g =4 1 ﬂﬁg 2019

Question Number : 4 Question Id : 716447754 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Which of the following countries will host the ‘2nd Global Summit on Earth Science and Climate Change’ in September 20207

30 Barees” J B¥o 0N 2020¢5° ‘2nd ff &5 ?’JSDJ&GS &3 06 ?_g.%:l 206 Sa0é) wlod * o X)dsﬂju?_’g)o&?

Options:
Czech Republic

1 o 960095

Germany

7« a&cﬁ&b

India
3 % TOBBI0

Singapore

4. % Nofiyrd

Question Number : 5 Question Id : 716447755 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Indian Navy Day is celebrated on

2RO Do) &5@;}&30 & BN LT,

Options:
5 October

1 = 5 Eﬂgmﬁ

17 November

7w 17 daooerd

19 July
3 W 19 Eﬂ:"g

4 December
4 v 4 é&Doedbd

Question Number : 6 Question Id : 716447756 Question Type: MCQ Option Shuffling : Yes Negative MarksDisplay Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
In which of the following cities was the *All India Conference of Directors General and Inspectors General of Police’

held in December 20197

& 80d daorod” 2019 Enome” 2060 ‘e85 Q00T TGOy &3O 20556y aD0S BT @:33355 29065 63D
DO ‘D5 ¢ 200067

Options:
Pune

1. v o

Nashik

Bengaluru

3. % Borrd



Patna

Question Number : 7 Question Id : 716447757 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following days is observed as International Volunteer Day?
& o0 DF) DY o) Bersd tﬂn@gﬂ@@dﬁ TPe0E0 &ﬁiﬁgéo 20N ?

Options:
5 December

1. ¢ 5 é&»oedbd

7 December
? % 7 &Doed

10 May
3 % 10

30 July
4 % 30 E\E‘Q

Question Number : 8 Question Id : 716447758 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which of the following states will the *23rd National Conference on e-Governance’ be held in February 20207
& 308 Dﬁgef 2020 Dpdde” ‘@-000) Dy 2 23 & A DAY G 6 BAMHBH?
Options:
Sikkim
1 = ~%)0

New Delhi
7w ngri@



Maharashtra

QIO

(Ber

3.

Punjab

A s Doared

Question Number : 9 Question Id : 716447759 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following countries hosted the ‘2019 NATO (North Atlantic Treaty Organization) Summit’?

Bod Tarees” 2019 ¢S (TG e9rodS B8 e3gDBND) DDYET DOLEPo)d B30?

Options:
The UK

1. « SSWROE Sof G

The US
7 % 00

Germany

3 % e&cﬁ&b

Russia

4' % fja“za

Question Number : 10 Question Id : 716447760 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which party won the general election in Britain?

DODS” 2OAD JOLAS D) $E° D P ADD0H?

Options:
Labour Party

1 ® 3836 ﬂ‘g



Scottish National Party
7 % ﬁnbe?;:::. DS 0

Conservative Party

3 o 5908 Y

Liberal Democrats

1 % Beaced ﬁ:lj“g"es:}

Question Number : 11 Question Id : 716447761 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In December 2019, announced that it would be setting up 45 new fast-track courts to hear cases of sexual crimes
against women and children in the state.

TrRee” aaTYen Botn DYUD Hohs oo FOR DerdontdS Earr 45 O ers Edod Jomyin
Doda0y 0 2019 Eoerdes” FSELAIANTAT

Options:
West Bengal

1. = ?D%bm gorred

Odisha
? 2ol

Maharashtra

DT

Tamil Nadu
A = SV

Question Number : 12 Question Id : 716447762 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



In December 2019, the Union cabinet gave its approval to India for the country to sign an MoU with on
Bioenergy Cooperation.

BICITIDG TG0 20 & 2,8 O 205700509 DodEo Boe=DS 2019 &20e66” Sog svogdago
AL LS TAT L L=l P S T B L faf.'}ao&.

Options:
Australia

B DOIT
=1

Brazil

7 » B2

UAE
3. & oivda

China

Question Number : 13 Question Id : 716447763 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In November 2019, was sworn in as the 18™ Chief Minister of Maharashtra.
dooexd 2019 &°, auiFoeg 18 & dwajoede DT AS00 T
Options:

Uddhav Thackeray

Gopinath Munde
7 % Dord dwod

Chhagan Bhujbal
3. ® tﬁﬁé Ei)&!-gﬁ



Pramod Sawant

A % DS FDod

Question Number : 14 Question Id : 716447764 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who topped Forbes® 2019 list of 100 Most Powerful Women of the World?
00020857 100 963506 33D0BID VTR 36‘5@3 2019 amdored” Do @ggvmoeﬂﬁ &y 7

Options:
Mary Barra

1. & 0berg

Nancy Pelosi

2 % ﬂ“bﬁb@&?@

Angela Merkel
3 v DoBZer TS

Nirmala Sitharaman

4 x Ty Herorand

Question Number : 15 Question Id : 716447765 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who was appointed as the next High Commissioner of India to Ghana?
DORPE) 2P0 0 FTPESDNAGT )M DOV ?

Options:
Renu Pall

1. % Gew areS

Vinay Kumar

7 % DH0d a6



Prakash Javdekar
3w Feice teTal=lel

C Sugandh Rajaram
4.« = R0 ToErTraD

Question Number : 16 Question Id : 716447766 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

How many communities are eligible for Indian citizenship. according to Citizenship Amendment Bill, 2019?

OB DO6e Dew, 2019 HsPGo I HTeD 2GS D CTDS esen?

Options:
14
1. = 14
S
? = 8
§)
3.v 6
0

4 = 9

Question Number : 17 Question Id : 716447767 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following countries took full control of its air space in December 2019 for the first time ever after its
1990s war of independence?

1990e .3"5@0@15 aingo BhaS DOEOFOT S0d Swrees” 2019 &oerbss® ord oroin o0 (Jand DY) B WY
OB SR0L0E?
Options:
Sri Lanka
1 % QUGQ



Bosnia

2 ﬁ? eﬁéﬁ}lﬁﬁ“

Egypt

Australia

eS0T
=

4 =

Question Number : 18 Question Id : 716447768 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

As of November 2019, which of the following countries is on the top position in terms of gold reserves according to
World Gold Council?

Daoed 2019 ods, D05 HS TS DT°C0 L0TPED DX Doioes” S S0 S D6 E‘G%“Kﬁofﬁ& G057

Options:
UAE

1. & ocdwda

The US
7 00D

Japan
3 % 20D

India
A » DOOBFO

Question Number : 19 Question Id : 716447769 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In December 2019, closed down its subsidiary in Botswana.

Aoead 2019 5°, eﬁﬁe;w:]éaw@‘a 7D VLI WOQD SO0,

Options:



Bank of India
1 v E.P50§ e%5) QOG0T

Federal Bank of India
7 % DG &Pﬁoé €8 QOG0T

TUnion Rank of India
3« 0T DCTI0 m@oé e%3) *RoC.03T"

Punjab National Bank
1 % 02TE) foaraed wgoé

Question Number : 20 Question Id : 716447770 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who was appointed as the chairman of NSE (National Stock Exchange) in December 20197

2019 &0e685°, DRI (DS 8 ‘:'ébfﬁ} BOLATP D oD ?

Options:
K Vijay Kumar

1. & 3 DHaod Ha70

Vineet Jain
7 % DB EBD

Ashok Chawla

3« TS5 e

Girish Chandra Chaturvedi
4 v AOR o AT

Question Number : 21 Question Id : 716447771 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3



Correct Marks: 1 Wrong Marks: 0.33
Who among the following was appointed as senior security advisor in the Union Home Ministry?

308 065" DD o 5o AoRE] TS LIADE DETHOS ERET DoDIVAVAIFIH?

Options:
Ashok Chawla

1. = TS5 e

K Vijay Kumar
? « B Daod H70

Vineet Jain

7w OIS ED

Jagdeep Dhankhar
A x 206D Gowd

Question Number : 22 Question Id : 716447772 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who among the following Indian actresses received UNICEF's ‘Danny Kaye Humanitarian Award’ in December 20197

206 2PCA0L Haneees® o 2019 Ahoeades® aindnd 0RO, ‘—H g RPfRTIBB0IR TG’ 0T B?

Options:
Shabana Azmi

1 = nerar ?_f.ié,é

Alia Bhatt
2' w  es®odoe 235

Priyanka Chopra
3 o O30S Sgr



Madhuri Dixit
4w SO0 HES

Question Number : 23 Question Id : 716447773 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who was elected as the President of Asian Development Bank (ADB) in December 20197
2019 &R0e6e5°, D0 EHOLD Dok w}goé_‘m (ADB) Eﬂﬂﬁéﬁ)ﬂﬂ“ e ;JQJSDGJ“?S_CD?

Options:
Takehiko Nakao

1. & 658 oscd

Masatsugu Asakawa

2. J aiun:-mgrb e 1= S

David Malpass
3 x CDE DTN

Rawvi Mittal
4' " Go) D.‘}Eé}ﬁ

Question Number : 24 Question Id : 716447774 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who among the following actors was appointed as the brand ambassador of NADA (National Anti-Doping Agency) in
December 20197

&Ro0e36 201965, 30d Hened” Jom e (FDNS oirod EDofi IBDY) erol esoeTcbT DaLDOSTM?

Options:
Suniel Shetty

1 W 2055 %l{g

Akshay Kumar
7 % god H270



Salman Khan

3 % ‘&3@&5 aro

Aamir Khan

4 % ©6

Question Number : 25 Question Id : 716447775 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who was re-elected as the President of Namibia in November 20197

2019 Hao0e2665°, DD GSLEIETT SO0 DY T JDW?

Options:
Nickey Lyambo

1 ® ::}éb BDjJ“DESG

Nahas Angula
7% &0 esorbhe

Sam Nujoma
T w oo &S

Hage Geingob
4. & ord eofied

Question Number : 26 Question Id : 716447776 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The in the iris that make pigment are called melanocytes.
DFDTFGo BOITD BOTD SRS D 0 DOOSAD 90T,
Options:

veins

1. & ~oen



blood
7 % 050

cells

3 v Srren

protein

4. % &6

Question Number : 27 Question Id : 716447777 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which type of blood group is known as universal donor?
D OSD BE (D D DI T8 ©D DenFM?

Options:
A

1. = A

O
4, v O

Question Number : 28 Question Id : 716447778 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The deficiency of the mineral causes anaemia.

DHGE €50 GEHOL SO0,

Options:



copper

1. = ©0 (=706)

calcium

2 % E"QQ‘DG

iron

3. ¢ @aaw

iodine
] = e03rdS

Question Number : 29 Question Id : 716447779 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Which of the following countries was left out of EU's 2050 climate neutrality targets in December 20197

2019 &0e:685°, EU og). 2050 F2065 R’}J"?Sgg‘?ﬁ}efa (ormraaces @m@@) OE[R Aol Fod @) B30 HODDoeCod?

Options:
Poland

1. v Ferok

Spain
2 ® _E'\];}G)J;%

Sweden

3' ® '?CIISCT,'%

The UK
4. % CI0RBE Sof G

Question Number : 30 Question Id : 716447780 Question Type: MCQ Option Shuffling: Yes Negative MarksDisplay Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



In which of the following cities did ISRO begin preparations in December 2019 for setting up a third launch pad to
undertake the manned space flight programme ‘Gaganyaan’?

2019 &ooexbes, 306 o8 @ HI60eS” SV e90BE. DT SPO{E00 (1D OISR SDPEIS DurEd
oS aPfE o8 DT SRR A FrdoDodod?

Options:
Sriharikota
1. v FFOE®

Bengaluru

7w oI

Hyderabad

3w TOTEPQ

Rajasthan
4 x Gnae,g“.f)

Question Number : 31 Question Id : 716447781 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following companies launched the Audible Suno app in India in December 2019?

& 800 oreS” D 0 (S020D) 2019 Eo0exdes” erGaitd oS’ esdened L0 0IrdA DEIGL Beod?

Options:
Amazon

1. v 0SS

Infosys
2 ® @S:FJE)

Microsoft

3 = DEFR



Samsung

4. & oo Dod

Question Number : 32 Question Id : 716447782 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which type of blood group is a universal recipient?
2 G50 & (rD DI (Jayoes?

Options:
AB

1.~ AB

Q

s
i
S

Question Number : 33 Question Id : 716447783 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Which of the following Earth observation satellites was successfully launched by ISRO from Sriharikota in December 2019?

306 DG RBLO THTWS” BID 2019 Eoebs” A Fardse Mol HaoDdecorT HOIrHoot?

Options:
GSAT-15

1. = &=e5-15

RISAT-2
7w Bwed - 2



INSAT-3
3 x ’E'E;,Eﬁ- 3

RISAT-2BR1
4. O - 2Desbl

Question Number : 34 Question Id : 716447784 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who was appointed as CEO of Google parent company Alphabet Inc.?
(D& Iy Do e 8 QoS alws); CEO T Jod Dohdedesdd?

Options:
Sundar Pichai

0060 EEod

1.«

Larry Page
? x b 0d

Sergey Brin

3% S

Vineet Jain

A x DB B

Question Number : 35 Question Id : 716447785 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following states launched e-learning mobile phone app *Madhu’ in December 20197
2019 &0e0685°, & 30d 2 T°O €50 0 D0BS TR 0D DY & ardodood?

Options:
Assam

1 ® E'_‘}ﬁ“b[]



Odisha
7 @ wlar

Kerala
3 = Sov

Punjab

A = Doaeed

Question Number : 36 Question Id : 716447786 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In November 2019, collaborated with ISRO to set up a Space Technology Cell at its campus.
00836 2019 &°, B8 5°0DRS" YD O5°) O VSR JoED BOHEEIS R &B0d.
Options:

IIT Delhi
1 » 009 &d

IIT Hyderabad

7 % DD ETERS

IOT Roorkee
3 % DD {i}ﬂﬁgy

IOT Guwahati
4w Dod Doard

Question Number : 37 Question Id : 716447787 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which year was the Andhra Bank established?
<) ‘é)o&ﬁ@ﬁtﬁoéﬁ es0g erjos %ﬂ}oﬂméoﬁ‘)?

Options:



1956
1. %= 1956

1945
7 % 1945

1923
3.« 1923

1934
4. % 1934

Question Number : 38 Question Id : 716447788 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which year was the Dowleswaram dam constructed on the Godavari river?

Forod S8, G0F300 505 D DodBy o DB oderctod?

Options:
1876

1. = 1876

1879
7 % 1879

1845
3. % 1845

1852
4. « 1852

Question Number : 39 Question Id : 716447789 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Who became the first Chief Minister of Andhra Pradesh on the formation of the state on 1 November 19567
1 D50e35 1956 & T7y) 580663 Be», e50G00% DG SADFRVOGMT WD DCDIBIVAIFED?

Options:
Neelam Sanjiva Reddy

W
1 v Hexo oo oc

Surjeet Singh Barnala

9 % mg@ 0 £YO) ©°

Bhimsen Sachar
3 % DD DD Db

CM Trivedi
4. = CM 38

Question Number : 40 Question Id : 716447790 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which of the following years was the Shri Venkateswara University established in Andhra Pradesh?
Zocs DFY DY D VoNSy00e, e0gHBTS” @ DL DIDTTHOODO FDoseItod?

Options:
1956

1. % 1956

1939
7 % 1939

1945
I % 1945

1954
4.« 1954



Question Number : 41 Question Id : 716447791 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In the vear 1953, Andhra Pradesh was reorganised on basis.
1953 Roaer\Goes”, PADOED e50GNDT mmsém?gsammam.
Options:
administrative

1. & Déarom

geographic
2' % THL

religious

3w Qo

linguistic

4 v TR

Question Number : 42 Question Id : 716447792 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In the first Madras Legislative Assembly, 1937 elections, which of the following parties came into power?
S0EFR DG TRV 1937 ) S0, & Sod FGOS” IO OT GG HNod?

Options:
Justice Party

1 ® aﬁgfca ﬁ“é

Communist Party

I« S0 DY 5"@

Indian National Congress

3 ¢ €0C.030R DNRS STode



Socialist Party

4 % T00F >

Question Number : 43 Question Id : 716447793 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

When was a separate Andhra Pradesh High Court established after the bifurcation of the earlier state into Telangana and
Andhra Pradesh?

SD0RODD TN Beorres SOOI oGHBT TP DBR0DD BWTS DS LoFNBT ITED I .gvﬁbo::ﬁeafi‘.oé?

Options:
1 January 2018

1. & 12550 2018

1 January 2019
7w 1350 2019

15 March 2015
3 % 15 m&a 2015

15 August 2017
4 = 15 estig 2017

Question Number : 44 Question Id : 716447794 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Andhra Pradesh headed by how many seats in Rajya Sabha?

S0ENAT D, TragHBS’ I D &%) 0n?

Options:
11

1. « 1

16
? % 16



3 = 31
23
4 = 23

Question Number : 45 Question Id : 716447795 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

As of December 2019, who was the governor of Andhra Pradesh?
2019 CRooerb o8, e50808% (1566 Dt ?

Options:
Ganeshi Lal

1. & oG ereS

Kalraj Mishra
7 % SR DT

Biswabhushan Harichandan

3 v aﬁ‘éagajﬁ‘fqeﬁ EeiletalilalS!

WD Tiwari

4 & Dd.& daord

Question Number : 46 Question Id : 716447796 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following government schemes did Andhra Pradesh chief minister Y'S Jagan Mohan Reddy launch in
December 2019 for the benefit of junior advocates?

Bocs DEYAY TS, 2019 E02:66" &0 TFHOTENO NOITRD0 Edo e50gHdT H0a§008 DO 21D
QPR B¢ $F00DODD DIAS DEEO JO?

Options:
Arogyasri

1 = Eﬂﬁfrﬁéﬁ



YSR Law Nestham scheme

7 ¢ D036 & Yo DES0

Meesewa

3 % DO

4 % 59

Question Number : 47 Question Id : 716447797 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

How many welfare schemes are run by the government of Andhra Pradesh?
e50GNDT PEDAL ) VED DEF VN AOEFY 0H?

Options:
6

1. % 6

16

Question Number : 48 Question Id : 716447798 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

As of December 2019, who was the DGP of Andhra Pradesh?

GRoexd 2019 83, es00007 G2 JaDh?

Options:



Amit Garg
1 = e90B 0

Harish Kumar Gupta
Iy POQ HA°6 LaF

Kasi Reddy
3 % 59 ﬁ(:%

Damodar Gautam Sawang

4. v b e Jrooh

Question Number : 49 Question Id : 716447799 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Which of the following is the web portal of Andhra Pradesh through which people can view land records online?

o0 DYDY oGHBT e DGS 0" BD e Paen SITHS’ HP MO SPEDAN?

Options:
YSR Law Nestham scheme

1. » D06 & Do DEHSo

YSR Asara

7 % DODIIO SO

Amma Vodi

3« €90} 2ot

Bhuseva and Bhudaar

4 » R0 andody #Hrord

Question Number : 50 Question Id : 716447800 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Which of the following is an e-Government project started by state government of Andhra Pradesh that aims at the
complete computerization of the land registration process?

AL aa@a& D300 0T0E), WG SorwBE0mn VE T SRS SoFHBT w@ D0 gPCoDODD @-1D0) oS
TEBS D67

Options:
CARD

1. v T8

MeeSewa

7 % D0DD

CFST
3 % DD

Prajavani

A x DT

Question Number : 51 Question Id : 716447801 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who was sworn in as the Chief Justice of Andhra Pradesh High Court on 7 October 20197
7 956 2019 3, 0gHA? FED R THODATYTE JDM VAT AS°00 BIW?
(4] (]

Options:
Chagari Praveen Kumar

1. % @00 DB HOFE

Vikram Nath
7 % O8O T

Govind Mathur
3 % BDod drcd



Jitendra Kumar Maheshwari

4 o ©B0G Dars irsgd

Question Number : 52 Question Id : 716447802 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following is an e-Governance initiative of Andhra Pradesh which is a web based system of on-line
receival, replying and monitoring of Public Grievances at District Collectorates?

2e° SG508 O DS ﬁSJonEJQ &) e5DTD B, 000000 280K APDLB0A DEFDES D) TS SIFEIR) €90
e50GBT OOV, Q-(DT) Dy SO[Ea00 IB?

Options:
MeeSeva

1. & oo

Prajavani

7 & DEEIE

Arogyasri
4 x Ehefeie

Question Number : 53 Question Id : 716447803 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following villages became the first digital village in Andhra Pradesh in 2016?

2016 &°, & 306 TrareEd” D& es0Gnn e D00 Ea3eed oot arrdod?
Options:
Amadpur

1. W 29500 @“5



Narpala

2 ® EI“U'“'DEJ"

Mori
4 v 270

Question Number : 54 Question Id : 716447804 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
How many operational Special Economic Zones are there in Andhra Pradesh across the diversified sectors as of January 20197

2019 2508 03, 50gDA%S” PIGHBEDD Corrers” Iy SToRgEIcen DS €508 Svociered ) on?

Options:
67
1. = 67
19
? 19
23
3. 0w 23
12

4 = 12

Question Number : 55 Question Id : 716447805 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following is the main occupation of the people in Andhra Pradesh?
300770 L0PNBT DBL DT s IO7?

Options:



Agriculture
1 v D{OT 00

Arts
7 % Sven

Service

3 % o

Manufacturing

4.« osrd

Question Number : 56 Question Id : 716447806 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

What was the average agricultural and allied sector’s growth rate in Andhra Pradesh in the year 2018 since the
bifurcation?

D2 BT 2018 Do 00e5", e50GHBTES” DI HIHIOD SDBOKD 90 Gorre) DO Bew Joes?

Options:
17%

1. = 177

12%

? ow 1274

149%
3. % 14%

11%
4, v 1%

Question Number : 57 Question Id : 716447807 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



What is the per capita income of Andhra Pradesh in 2017-2018 (at current prices)?

2017-201865° (207208 G005) e50GNDT B8 esmroio Joeh?

Options:
Z 1,89,500

1. = 1,89,500

< 1,67,823

2 % 167,823

T 1.42.054

3 o 21,42,054

< 1,12,764

4. % T112,764

Question Number : 58 Question Id : 716447808 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Visakhapatnam (Vizag) Steel Plant was established with the technical support of which of the following?

& 300 e B JroBAE DTG DT DN 0 (Dah) ?E\gﬁ o5 gﬂﬁjoﬁﬁméﬂé?

Options:
USSR

1. v cindDdDesd

UAE
7. % Oindd

The US
3 % aodd



The UK
4. % CIDDOE Sof G

Question Number : 59 Question Id : 716447809 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which organisation ranked Andhra Pradesh at the top position in Energy Efficiency Implementation Readiness?
33 frmgéo 2923082 ORI (D58 Qﬂ_:a%m:nhb QoTVoEINRD TERD) & D 2005 e50LDEBT D guaﬁoeﬁ* DdDoH?

Options:
World Bank

1 v @ 03 £3°§05

WHO

¢en S A T

UNESCO

UNO

4 s odwn.d.z

Question Number : 60 Question Id : 716447810 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Indian sub-continent is divided into  physiographic divisions based on its varied physiographic features.
2PCS0S) &0 oo D) DIEEROD PDRATTDS (DOPS) LEFTL STECoTT pBOTDS (2088) DerrrentT
DEsetocieIcof.
Options:

o
1. = 9



3.+ 6

10
4 = 10

Question Number : 61 Question Id : 716447811 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

As of January 2020, how many districts are there in Andhra Pradesh?
2000 2020 03, e50GHDTS” Iy 2eTFen &y on?

Options:

23

1. = 23

12
7 w12

18
4 = 18

Question Number : 62 Question Id : 716447812 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
How many countries are included in SAARC (South Asian Association for Regional Cooperation) as of January 20207

258 2020 =83 J6); (S DRaDD AWCDND D6 625G Eedtin) &° Iy Bwmen Soywgron?

Options:
0

1.% 9



12

Question Number : 63 Question Id : 716447813 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which is the smallest state in India in terms of area?
DRG0 DOOTT ZPCBEF0S” AV T°Ho IB?

Options:
Gujarat

1. & roaocd

Goa
2. v B

Punjab

3 % Doared

Assam

4 % @3‘30

Question Number : 64 Question Id : 716447814 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

What type of climate does Andhra Pradesh have?
e50GNDTS” Jero) TrwraoEFED) £90 Gob?

Options:



Tropical
1. ¢ L’i—‘.%{mocf.&)

Tundra
2' W% EJDQ

Sub-Tropical
3 " =xy] 5@@0&@

Sub-Arctic
4 = &) E_‘?E%Ef}é

Question Number : 65 Question Id : 716447815 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
On the basis of relief, alignment of ranges and other geomorphological features, the Himalayas can be divided into how

many sub-divisions?

DOEEY b Dere (89D), Brwe exdE DBOIDL WSBC TFHYE VLT STECTT, IParOaiTo I
EDRTTTROTT DES2203IeiN?

Options:
9

1. % 9

12

11

L

4, ¢ 5

Question Number : 66 Question Id : 716447816 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3



Correct Marks: 1 Wrong Marks: 0.33
Andhra Pradesh has a coastline of km.
RI0GDDT 8.20. ACgromdy 59 eod

Options:
974

1. v 974

890
7 % 890

678

Question Number : 67 Question Id : 716447817 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Andhra Pradesh has largest deposits of which of the following mineral?
S0GDDT BBDS DETOTP, & Sod TS BID 500 cod?

Options:
Iron ore

1. = AR TR

Chrysotile asbestos
I STBS esn TR

Uranium

3. % ofnddodo



Marble
4 " Ilj“f_'i)a[ﬁ

Question Number : 68 Question Id : 716447818 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The Bay of Bengal island group of India consists of how many islands/islets?
ePOBDTL) LIOTPWS=Eh0 &52’.3 Da0Teroes” I &5.5“9_13;' Hanen ey on?

Options:
456

1. % 456

680
7 % 680

wn
-
I3

3. v 572

A, % 234

Question Number : 69 Question Id : 716447819 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

As of January 2020, how many wildlife sanctuaries are there in Andhra Pradesh?

2350 2020 63, 30GNBTS” D) DJTER) 9BOITOLFIRD ET7) 0007

Options:
23
1. = 23
13

2. v 13



3. % 9

18
4 = 18

Question Number : 70 Question Id : 716447820 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

According to 2011 census, population of Andhra Pradesh is approximately

2011 e ejébu 205700, £50GI00T BrTrel® 0T

Options:
34.89 million

1. % 34.89 209005

78.89 million
? % 78.89 Dodobod

49 67 million
3. v 49.67 2ododa

54.36 million

. % 54.36 209005

Question Number : 71 Question Id : 716447821 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

India measures the coastline of approximate km (inclusive of island territories).
ZPGBBF0 ATFM 820 (B0 &rarmro) SenpED) AoTorrdy £DADD.
Options:

9,087

1. = 9.087



6.908
7 % 6,908

7,516
3 o 7,516

3,056
4 % 3,056

Question Number : 72 Question Id : 716447822 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following delta is the largest mangrove forest of the world?

& 300 2 T, VDO 9NDEG DO ED?

Options:
The Sunderbans

1. v “ﬁ)oﬁtﬁaﬁb

Pichavaram Mangroves

7 % DOH00 DO ANV

Godavari-Krishna Mangroves
3 % Forod-g Qo6 ectapen

Bhitarkanika Mangroves
4 = i)&ﬁw&ﬂ? S0GE eacianen

Question Number : 73 Question Id : 716447823 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following institution is contributing to Disaster management?
&3 300 ortded” R0 VDGO DOGETEIE FeycoFod?

Options:



ISRO
1' g ’E‘@s ('SRO}

INDR
9 % D5 & 6 (INDR)

NDMA
3 232 2% d (NDMA)

CDMA
4 x A2 (CDMA)

Question Number : 74 Question Id : 716447824 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
resolution refers to how often a remote sensing platform can provide coverage of an area.

2,8 B2 Do S0 ot BOLNT 2,8 Frodo OIS, ST eodocdieds BRI DR,

Options:
Radiometric

1 » OROIFRLYS

Temporal

7 & ©ooes

Spatial
3 ® ?{];)ﬁlO:i}ﬁ'j_

Thermal

4 ® Eﬁ{j&’ﬁ

Question Number : 75 Question Id : 716447825 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



In which of the following cities is the National Institute of Disaster Management situated?

& 300 DTS DS QINERYES e9D e RF 05 IE) & &ob?

Options:
Jaipur

1. »« &6

Hyderabad

7 % POTEPH

Bengaluru

3. % Boriwrm

New Delhi
4, v 548

Question Number : 76 Question Id : 716447826 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

What is the full form of NRSC?
ADes6ID B (NRSC) 03n8), HPOEs 630 IDD?

Options:
WNational Research Scientific Council

1 = OIS B8y PoBDE NS

WNational Research Scientific Centre

7 % AORES B06y PoBDdE Dodd

WNational Remote Scientific Centre
3. % P0G 86 oS okrd



National Remote Sensing Centre

4 v o) HTeed ?Gﬂbﬂﬁ o080

Question Number : 77 Question Id : 716447827 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

is a satellite that provides weather forecasting, cyclone prediction and tracking services to India.

2POBETDS SPTEOGE €900, SRR e90ar AB0IL ErSof DOBRD e90fodd eDTTo.

Options:
GSAT-31

1. = &= - 31

SCATSAT-1
I f}“&eS 265 - 1

GSAT-7A
3w &7 -7

Cartosat-2C

4 = 570 - 2w

Question Number : 78 Question Id : 716447828 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Natural resource depletion and resource degradation are the key aspects of vulnerability.
DarE SO HIAIHo SBOIL HHMY 9 Eoo mc&amaﬁo{a@&di}mé} OT0E), AP V0TRD.
Options:

physical

social

7w Drarad



economic

3. % ©8°

environmental

A v E)D‘é&ﬁtﬁfa

Question Number : 79 Question Id : 716447829 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who among the following heads the NDMA (National Disaster Management Authority) in India?

& 300°06° DM erPCHBFS” IDJod (VNS CGardbd D0DF) 065 Zlaaln) G EIATT ) 7

Options:
President

2e3

[

[

(e

1. =

Prime Minister

Governor

3 x ﬁcﬁdlﬁ

Vice-President

4 x GR-T(RIS

Question Number : 80 Question Id : 716447830 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

is a collaboration between five federal agencies that are major users and producers of satellite land remote
I .
sensing data

EDFP erjols BT PDoh EEF IV, PT°R ENATEHLD DBOTL HDICITATTERD IOV DE DECS IBINW
2063 Drsedo (Fere)dim)

Options:



Indian Institute of Remote Sensing

"QOCO3R) ADWITLES €32 BDTE) Do

Indian Agricultural Research Institute
2POAON SO0 DOTEHD Do)
? % @

Joint Agency Commercial Imagery Evaluation

2000083 D::Tz‘.i}:j S20001e5 Qaozd DDTLND

3.

National Institute of Disaster Management

aeoed mﬂgméeﬁ 550 (1&5“};\35 EE:D?\EBE%’DES

Question Number : 81 Question Id : 716447831 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

___ is the most complete information system for modeling, analysing spatial data and displaying community
vulnerability.
27¢®of, FoBIE CeraD DFN0E0 SDBOID SN IOHTDY DOBoso Edo CRARCLICERN) o)
RATETO aﬁa*g.
Options:

GNS
1. % GNS

GPS
7 % GPS

Remote sensing

3 ® E}-:._"_H“ES ?\}:}:}Dﬁ



GIS
4. « GIS

Question Number : 82 Question Id : 716447832 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

As of December 2019, who is the director of Indian Institute of Remote Sensing (ITRS)?

CRooexd 2019 T8, oo ADLIR(ES e BD0™5 2Dyoh (IIRS) £856 Jaw?

Options:
Dr SK Srivastava

1 = =0 D.8. PR

Dr Satendra Singh

% % 86 Do oh

Dr Prakash Chauhan
3 o TH0 =R TOD

Dr VK Sehgal
. % =58 D3 RaAriS

Question Number : 83 Question Id : 716447833 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

When was the Disaster Management Act passed by the Government of India?
a0l f:}::ig&:rusa Qgﬂgﬂﬂl Fajlela] Qai)e‘_’aso J@Sﬁb e300l ?

Options:
23 December 2005

1. v 23 &oesd 2005

14 October 2003
7 x 14 wgmﬁ 2003



12 September 2001
3 x 12 S3poexd 2001

5 May 1999
. % 531999

Question Number : 84 Question Id : 716447834 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In December 2019, Indian Council of Agricultural Research (ICAR) signed a Memorandum of Understanding (MoU)
with in New Delhi to promote sustainable agriculture and a climate-resilient farming system.

oy &9, dRoed 2019 &°, 20RO BEDIP00 BTN TTPHCR-LVRDETO) SEDIF0D DR T yirocst=S,
QOGO TS 8D NSNS 51:.5(5 (022es5) &F e9a5TTE 2isnocio (Jodsodn) P Doso Bob.

Options:
NDMA

1. % 5 I D

CDMA
7 % HAEIZD

INDR
3 % D04 esd

NABARD
4 v aﬂmg

Question Number : 85 Question Id : 716447835 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following was the first country to declare the climate emergency?
TTEOOER BIHVC DORB HEBoDD DO BFo DE?

Options:
UK

1. v ooz



USA
7 % ondR

Russia

3' % fja“za

Japan
4w 2

Question Number : 86 Question Id : 716447836 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

As per United Nations Organization, how many global Sustainable Development Goals are designed to be a 'blueprint to
achieve a better and more sustainable future to all'?

DEFOrRRODA DO HST0o, 'e906368 DD SBAIL RO BDDFEOD FEOSEIS LTS T DD eﬂo@gveﬁaom
2000 DD vEfen drtTodosegon?
@ ] =]
Options:
12

1. = 12

17

19
4 = 19

Question Number : 87 Question Id : 716447837 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

As per the United Nations website, how many countries signed the Sustainable Development Goals (SDGs) to be
achieved by the year 2030?

DEOTRODS D5 Pstdo, 2030 TS, mfgtﬁ @i)&'}ag) OER(RD (DDER) FHodDd A BFren DoBo SFon?

Options:



123
1. % 123

193
3.« 193

110
4. % 110

Question Number : 88 Question Id : 716447838 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
development meets the needs of the present without compromising the ability of future generations to meet

their own needs.

HDS ST T8 V(OB DITON @d{brﬁ@ 5"5338“53‘\ Tred DEL0E DR B00 JF0 e9DDTORD

e2yE B,
o

Options:
Social

1. = Jrared

Sustainable

. |
2. v 0%°

Economic

3. % “a°

Environmental

A % ?DD"ZEJECJGEE

Question Number : 89 Question Id : 716447839 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3



Correct Marks: 1 Wrong Marks: 0.33
A gradual increase in the average temperature of Earth's atmosphere and its oceans that is permanently changing Earth's
climate is known as

2P0 3LE), SPEPHGE0 BT TP MDFAAVETY DL ELTEBS” SR PDWIDEL, 2T CI0E), TEPIOEPIY
TR0 AFORS. HID €908 ().

Options:
Depletion of habitats

1. & eardre S

Loss of biodiversity

7 % BoPDEe S Do

Global warming

3 v fTees 8),06

Forest degradation

eat)s) eal £0ea0

4 =

Question Number : 90 Question Id : 716447840 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

When is World Environment Day celebrated across the world?

oy

DD DTYDOR &Se:@;}aua;l, DDODTFROTT IPYED BB DEFE?

Options:
5 Iune

1. « S5ad

17 November
7w 17 Hooexd

6 May
3. % 6w



20 July
4 x 20wg

Question Number : 91 Question Id : 716447841 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which of the following years did the United Nations Sustainable Development Summit adopt the 17 Sustainable
Development Goals (SDGs)?

806 DEF)Y D) D DoDSGOS” DEFORFODE WRE DG DY, 17 N0 DS oL (ADEE)

??:Joaf)éj;j{ﬁoé& 535550{30&?

Options:
2017
1. = 2017
2013
7 % 2013
2010
3 & 2010
2015
4. v 2015

Question Number : 92 Question Id : 716447842 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Is aimed at maintaining (and recovering when necessary) a healthy natural environment.
5B S0RDRD Ve TEEDCEED) DOEToSED) (S0BOID 9DDCDINYE FenEdco) vgorr DenHod.
Options:

Economic growth

1 = 588 Jeorbow (8T8 HE)



Economic development

7 % es05°D0 (DE8TrD0s oo D0oks)

Environmental protection

g DOYDOm DO (DTS D0oe5 THED)

Sustainable development

020 8970 (RR0SeNS EovD Do)
4 = T o e

Question Number : 93 Question Id : 716447843 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

is a policy intervention endeavor with aims of economic and social well-being of people.

@00 Daw &S aBoIL FOFRE B0y VFROE DYV 2.8 IoEo.

Options:
Economic growth

1 = 508 Jeorbow (IS8 HE)

Environmental protection

9y OO0 DOCLE (DTS D0oe5 THED)

Sustainable growth

7 « %ﬁ@.{a DB (DDo0SeNS Cowd Dotl)

Economic development

4 v 505 D0 (D80S oD 200kd)

Question Number : 94 Question Id : 716447844 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Which of the following is the only environment treaty that deals with a particular ecosystem?
B0OTOS” DFY DTYDOR FORT DD JIFE DTG0 2:0\000 IO?
Options:
Ramsar Convention

1 v Gnmjé 5&55\35

UN Convention

5 4 UN &R0

Convention on Biological Diversity

3 « 22 POG{OD SV

Geneva Conventions

4 = e S

Question Number : 95 Question Id : 716447845 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which of the following year The Montreal Protocol (an International Treaty. to protect the stratospheric ozone layer

by phasing out the production and consumption of ozone depleting substances) was finalized and signed?

308 9 DoDB00eS” ArothoS FESseS (8D o 2e3odED DT GEOE SBATD DALY SBOT O
Sfocicio T JreS° es0es L&D TOR 6L00DS SAHRY 2.8 @o@gﬂeﬁacm 2D\0050) PTM Boiertod Sudoin
mosSo doiedoh?

Options:
1985

1. % 1985

1999
7 % 1999

1987
3. v 1987



1965
. % 1965

Question Number : 96 Question Id : 716447846 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

According to the IPCC (Intergovernmental Panel on Climate Change) report on global warming, global net human-
caused emissions of carbon dioxide would need to reach by 2050 from 2010 levels.

fexe5 378,060 D IPCC (2005 16) 2000385 22e5 €55 S5 Sod) IDOE P 6o, {2385 DEC AFDD-TCD & BB \E
egroren 2010 Q‘%:mm ZAood 2050 =633 & AOEHOD cotvod.

Options:

1. = 45%

12%

? w 127

net zero

3 v S 1=te] ?’cua“i

Question Number : 97 Question Id : 716447847 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which day is observed as National Energy Conservation Day?
2A0D 33 HO0EE HT Do, D Ferad FOFm?

Options:
14 December

1. « 14 &oedb

20 December

? w20 &Roexd



12 October

7 12 wgmﬁ

13 September
4. % 13 P3yoerd

Question Number : 98 Question Id : 716447848 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Published annually since 2005, the Climate Change Performance Index (CCPI) tracks countries' efforts to combat
climate change. What was India’s rank on the index in 2019?

2005 2ot e Penbocserts, T2 Hod DTHGLAY @&y (DHDD) TTH0E AFNO I8 DEPIS BFen DD

ROy O &r§ B0, 2019 AFDES® ercadiso Aoy T7jo8 DDK?

Options:
7th
1. &= 7&
Oth
? v 9O
12th
3w 12
10th
A4 = 105

Question Number : 99 Question Id : 716447849 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Which of the following articles of the Constitution of India defines the duty of every Indian citizen to protect and

improve the natural environment of the country including forests, lakes, rivers and wildlife, and to have compassion for
life?

eICLEED, DO, AEED ADBOIL DO D B306°D Vara TEEHCEED) DBGLoEo SOOI
QMDD BTN BDB0RD Sdes BN Eocitro DA 2P0 FME SGariD) 2PCS Tarjoriod D & Sod eSSy &°
D Lol SIS VA TS

Options:



Article 31-D
1. = Eﬂgéeﬁ 31-D

Article 31-C
7 % e:?géeﬁ 31-C

Article 34-A
3 % e:?ggeﬁ 34-A

Article 51-A
Ad v e:?géeﬁ 51-A

Question Number : 100 Question Id : 716447850 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
According to the Andhra Pradesh Reorganization Act, 2014 which is the appointed day for Andhra Pradesh’s formation?

503D @aaséa?ggdm 3e0, 2014 Hzedo, ©0ENBT IBERD DTN Fer IH?

Options:
2 June 2014

1. v 2ed 2014

15 August 2013
7 % 15 esrign 2013

1 July 1998
3 x 1rg 1998

3 October 2014
4. % 3 @§m5 2014

Question Number : 101 Question Id : 716447851 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Section 94(3) of the Andhra Pradesh Reorganization Act, 2014 provides that shall provide special financial
support for the creation of essential facilities in the new capital of the successor state of Andhra Pradesh.

es0In0T @éd&ﬁ%})édm 30, 2014 &6°D £S5 94 (3) H5°vo, BoFHBT D“’% EQ TramdS” ed00R Jrsoge
SN DAE 08 VDD 0B/ FFW.

Options:
State Government

1' . Uﬁ‘i& ;gaj:rejﬁo

Central Government

% Sog) REbS0

Public

B8

Lo
4
E}

Political Parties

4 % Trasoid %ﬂgw

Question Number : 102 Question Id : 716447852 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Andhra Pradesh is represented by how many seats in Lok Sabha?
S°5 DS° DD DL 5oFHBT FAIGS0 DT ?

Options:
13

1. = 13



16
4 = 16

Question Number : 103 Question Id : 716447853 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
is the Telugu New Year festively observed by the Hindus of Andhra Pradesh, Karnataka and Telangana states
in India.
EPOBEF0S’D 0PNAT, STOS S0O0KID BOOTTFE T POEENED BEKNED BLOD IS DoDBYG DO

Options:
Dasara

1. & oo

Makar Sankranti
7 % QOS50 DoZrodd

Ugadi
3 v &Th

Panduga
4. = Do

Question Number : 104 Question Id : 716447854 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following was declared as the new state bird by the state government in June 2018 after Andhra Pradesh’s
bifurcation?

€S0GSDHBT CIVE), DBRD BWTS & Z0d TOS” BID, &7 2018 &° oo HELBLO APBD T°Y DET DEGoDod?
Options:

Rose-Ringed Parakeet

O&-0of aroedes
1. v &

Indian Roller

ol aid Beb {ﬁﬂuﬂjgg}
2. %



Peacock

3 % 2Dad

Flamingo

4 % Egﬁ)}a?f

Question Number : 105 Question Id : 716447855 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who was the first Chief Minister of bifurcated Andhra Pradesh?
DSRODCR BoGNHT CILE), D) ANV DDW?

Options:
K Rosaiah

1 = =) Ef%cmﬁ

YS Jagan Mohan Reddy
7 % DO B THTQ O

Nara Chandrababu Naidu
3 g TT CIOCIETPRL AP

N Bhaskara Rao
1 = ) a:ﬁjﬁ%tﬁ Tea)

Question Number : 106 Question Id : 716447856 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following flowers was declared as the state symbol of Andhra Pradesh after bifurcation?

DB BDOTS $00 TS DO 30FNBT T°F) D) o PEDocIICoH?

Options:
Rose

1. & coerd



Water Lily
7w Seno

Jasmine
DT (a0 D)
3.

Mogra

4w QT

Question Number : 107 Question Id : 716447857 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

is being constructed to serve as the new capital city of Andhra Pradesh, after Telangana was split off as a
separate state in 2014.

2014 & @oorre HIS TR DETOND SOTS SogHDT TG Tarrd 0T DABOE=IS S0
~0), IR Q.
Options:
Guntur

1. % rbotard

Amravati

7 90T

Vijayawada

3 % DwoharE

Visakhapatnam

4' " &')?;;J“&:ré.}io

Question Number : 108 Question Id : 716447858 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

What is the full form of SAAP?
SAAP c3o0g). D0 Do JDE?



Options:
Sports Administration of Andhra Pradesh

ﬁﬁbgg @d&ﬁ@ﬁ% €59 e300RT

System Administration of Andhra Pradesh

P ELDNN0 BD FoGDBT

Sports Authority of Andhra Pradesh
‘5}5:}93, D) €50 e50G0BT

3. v

Scientific Authoritv of Andhra Pradesh

/. x DodDE owrdd D e5050R

Question Number : 109 Question Id : 716447859 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Which of the following government initiatives was launched on 2 June 2015 with the objective of inspiring and calling

people for their participation in the overall development of the state, post bifurcation?
2 erd 2015 &, Desamrdosdo vy Do edg FoH av;?’fmu RO PO SOOI DODEO &RFOTT
FC0DoBeIED DB SE[E00 IO?

Options:
Nava Nirmana Deeksha

1 v DD D769 Hs

Nadu-Nedu
7R PR

Rythu Bharosa
q % D80 BTF

MeeSeva

4w oo



Question Number : 110 Question Id : 716447860 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In what ratio did Andhra Pradesh and Telangana agree to amicably divide the assets and institutions. on the basis of
population?

RETEP STPOOTT F0ERAT SVO0ID BOOTFE ) DA esen BT ROROM R IPRPOETT DERotsEIS

es0N1E00e00?
Options:
58:42
1. « 58:42
57 :43
? % 57:43
56 ;44
3 % 56:44
45 : 55
A % 45:55

Sub-Section Number: 2
Sub-Section 1d: 71644710
Question Shuffling Allowed : Yes

Question Number : 111 Question Id : 716447861 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Pointing towards a boy, X tells Y, “You are his only maternal cousin but I am his only maternal uncle. Your mother
doesn’t have siblings and her father-in-law has only two children.” How is Y related to X?
208 ePend) PR GrDRr X 9 918 Y 3 “R0dg 98D J3E 69 B 06e)D, 52D DAL 8D IFE REFDD.
20 698 Fengnapen G0 BOID &R ATAITES RO DD AFBR &) M Bd SeBoT) M. Y i H58 X 8
DaVeNHTEH ?
Options:

Nephew

1. = fh_‘mgpm



Son

7 Sarded

Cousin
3w 2060 (523)

Brother

4. & Dot

Question Number : 112 Question Id : 716447862 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Select the option that is related to the third word in the same way as the second word is related to the first word.

Teacher : School :: Barber : ?

Dotisd Do acitd DHTEDS HoeloGor)sd DGO s TG TTFaS Sotofot)a E.‘}E‘DS“Q*] docuFod.

Teacher : School :: Barber - ?
Options:
Haircut

1. = Haircut

Scissor

? % Scissor

Hair
3. % Hair

Salon
4. « Salon

Question Number : 113 Question Id : 716447863 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Pick the odd one out.
D) 2D TAD JocwE ol

Options:



Curious

1. # Curious

Interested

7 % Interested

Confused
3« Confused

Inquisitive

4. = Inquisitive

Question Number : 114 Question Id : 716447864 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Select the fraction that will come next in the following series.
L 16 T 24 B ?

12 P 23 X 32 2
208 3e3eS” DG D30y DY S0 JdocHEol.

I, 16 T 24 B ?

Options:

T o T O

| o M| o



il L | en

| m | ™

4. =

Question Number : 115 Question Id : 716447865 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
The given column graph shows the sales of wireless keyboards (in thousand numbers) from five different shops A, B, C,

D and E in the years of 2017 and 2018. Study the graph and answer the following question.
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What is the average sale from all the shops (in thousand numbers) for the year 20187
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100

1. = 100
90
? = 90
85
3 = 85
80
4, v 80

Question Number : 116 Question Id : 716447866 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Study the following circle graph carefully which shows the annual expenditure of a certain Private School.

Estracurricular slationary item, 42%
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Emiployee's salary, 64"

If the total annual expenditure during the year was 8 crores, then what was the approximate amount spent on Building
rent and extra-curricular activity?
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Options:

3.5 crores
1. = 35 ?%}J
3.0 crores
% % 3.0 §§p
2.5 crores
3 x 2.5 ?%D
2.4 crores
A v 2.4 ?g:;o

Question Number : 117 Question Id : 716447867 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Study the given graph of the production of multimedia players by three companies A, B and C over the years.

Production of Multimedia Players (in thousand numbers )
by thres companies of A, B and C over the years
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What is the difference between the production of company B in 2019 and company A in 20167
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Options:
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5,000
3 5000

1,000
4. = 1,000

Question Number : 118 Question Id : 716447868 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
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Study the given graph of the production of electric blenders by three different companies namely A, B and C over the

years and answer the following question.

Frosin v of oo tri Blomdey by the (omapniei A, B and C ovey
e VERry
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In which year was the percentage of production of company A to the production of company C the minimum?
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Options:



2015

1. % 2015
2014
7 % 2014
2016
3. v 2016
2017
A % 2017

Question Number : 119 Question Id : 716447869 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Study the given Venn diagram and choose the region that best represents the following relation: A smart janitor who is
not a writer.

Smart

RN DR BardEFD) oS0 32 Bod Q0EI0TFD) EGRDOTF TP @Do@*.ﬁ'}i JdocEod: BLd(Goonas) =0
%Dég 22266 (sehermm).

Options:
D

1. = D
C

2. v C



Dand B
3 % Dawbain B

] = B

Question Number : 120 Question Id : 716447870 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Select the option that will correctly replace the question mark (?) in the given figure.
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Options:
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1. = 36
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Question Number : 121 Question Id : 716447871 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3



Correct Marks: 1 Wrong Marks: 0.33
The given table shows the number of students who graduated from four different subjects, namely mathematics,

chemistry, bioscience and physics during five consecutive years. Study the table and answer the following question.

Name of the Years

subjects 2014 | 2015 | 2016 | 2017 | 2018

Mathematics 60 62 75 35 45

Chemistry 80 60 55 85 75
Bio-science 58 64 50 60 35
Physics 40 35 52 38 30

What is the ratio of the number of students who graduated in the subject of mathematics in the year 2017 to the total
number of students who graduated in all the subjects in that year?
cﬁbangmmgamm:maquxTﬁé@q5&ﬁﬁﬁ?§aaﬂh@@bnmannﬂagwgo@auwmxnﬁng
RBDHO Aol DYBETDH DEHER oI SFDRN0E. DHS IO T Sod D) D VATTEDH0 WDOC.

ngge bp Rosd e

2014 | 2015 | 2016 | 2017 | 2018

ficddo 60 62 75 55 45
Gamoinad =go |80 60 55 85 75

2arphy 58 64 50 60 55

FoE THho 40 35 32 18 30

2017 200800 (130" DHBEORD DTrydier Doy, &8 DoDEGS” ) DPHVES” DYBEITH DD Do
@ 1) £3 [
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Options:
13229
1. = 15:29
55:238
? & 55:238
46 : 287
3 % 46:287
85 ; 281
A % 85:281
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Study the given table carefully and answer the following question.

Years | Production of Air Purifiers (in
thousand numbers)
Company 2017 2018
A 26 23
B 22 2
C 18 20
D 21 28

What is the ratio of the production of air purifiers by the company A in 2017 to the production of air purifiers by
company D in 2018?

RN DS FGET 9C3[AT00 D, Sodd DB K VAT V0 QDOC..
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A 26 23
B 22 22
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Study the given table carefully and answer the following question.

Expenditure of a company (in lakh) per annum over the year

Items of expenditure Years

2014 | 2015 | 2016 |2017

Manufacturing cost 200 215 250 235

Labor cost 48 60 71 82
Transport 15 18 14 13
Taxes 2.5 3 4 5.5

What is the ratio of the expenditure on manufacturing cost in the yvear 2014 to the total expenditure on manufacturing
cost for all the years respectively?

QNS DS ST {000 B3R, S0d DF) S DATTTD0 WDOC.
D05SYTPDS 2.8 Do Mgy, Py (viwd)

o) eDoFEeN Rodd~oren
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In the given table, production of mangoes (in thousand tons) of three different states X, Y and Z over the years 2016 to
2019 is shown. Study the table and answer the following question.

Years | 2016 | 2017 | 2018 |2019
State
X 5 4.6 5.3 4.8
Y 5.8 54 4 5.6
Z 4.6 4.3 5.6 6.6

What is the difference between the total production of mangoes (in tons) of all the three states X, Y and Z together in
2017 and 2018, respectively?

RN DHES” 2016 Aot 2019 HOH D DED mg"w X, Y 208osin Z aing), ardnddog eayd (Do
30y ©85°) e ed. DS VGO0 BV F0d HF) D VATTD QL.

aﬂnm 2016 | 2017 | 2018 | 2019
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X 5 4.6 5.3 4.8
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Z 4.6 4.3 5.6 6.6
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Options:
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220 eaonen
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4 v 600 R0 &0
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The given table shows the marks obtained by two students A and B in different subjects.

Subject A Maximum | B Maximum
Marks marks

Mathematics | 40 50 35 50

Physics 42 50 33 50

Chemistry | 40 50 40 50

Biology 35 50 42 50

What is the difference in the mean aggregate percentage marks of students A and B?

DD DYSE A, B 9D agd DrrEjden DB DDV Todd durt) 00 GIra)tuod.

B A |60 ardyen | B £20 ard) e
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Options:
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The given table shows the number of students who graduated from five different faculties P, Q, R, S and T of a certain
university A. Study the table and answer the following question.

Iniversity | P Q R s T
Years
2012 410 300 |250 |280 440
2013 500 | 400 | 280 | 320 400
2014 450 | 450 | 240 | 260 350
2015 320 | 500 | 400 | 400 380
2016 500 | 430 | 540 | 350 420

The number of students who graduated from faculty Q in 2013 is approximately how much percent of the total number
of students who graduated from all the faculties in that year?

rat‘l}ba’) ?.bgg}g 28 K)Qa;i\ cﬂnur‘f}ai)&gef‘) D3.D§b OIS E)E'Sscb @C_}"gbé ST P, Q, R, S adan T oot DLBETD
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crdatyd | P Q R s |T
sosaes
2012 410 300 |250 |280 |440
2013 500 400 |280 |320 | 400
2014 450 |450 |240 |260 | 350
2015 320|500 |400 |400 | 380
2016 SO0 430 |540 | 350 |420
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Options:
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21.5%
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40%
3 = 404
26.3%
4. v 26.3%
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The given table shows the number of students who applied to five different colleges A, B, C, D and E and those who
were shortlisted. Study the table carefully and answer the following question.

College | Appeared | Shortlisted
A 1300 1000

B 1200 1050

C 1500 1350

)] 1000 800

E 900 750

In which of the following colleges was there a minimum percentage of selection?

Q)N DHE A, B, C, D 2005w E 0950 96 DO Sw7roes) Gy oy DR Doayy b SIDQE)E:;
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A 1300 1000

B 1200 1050

c 1500 1350

D 1000 800

E 900 750
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Options:
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The given table shows the number of different brands of a digital weighing machine: A. B. C and D sold during four
consecutive years.

Name of the Years

Brands 2014 | 2015 | 2016 |2017 |2018
A 250 150 275 233 310
B 80 60 55 85 75

C 58 64 50 60 55

D 40 35 52 38 30

What is the ratio of the number of Brand B digital weighing machines sold in 2015 to the total number of weighing
machines of the same brand sold in all the years?
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b 2014 | 2015 | 2016 | 2017 | 2018
A 250 (150 | 275 |255 |310
B 80 | 60 35 &5 75
c 58 64 50 |60 55
D 40 |35 52 i3 30
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The given table shows the number of stationary items sold by six different stationary shops A, B,C,D,Eand F
in five consecutive months.

Shops A |B |C |D E F

Time
period
1 Month 160 | 134 | 140|128 |126 |148
2™ Month 124 | 140|160 | 122 | 138 |120
3" Month 132 | 138 | 148|164 | 140 |126

4™ Month 128 | 142 150|129 |128 |152

5" Month 145|120 142|121 |110 |124

The number of stationary items sold by Shop D in the 3™ month is approximately how much percent more than number
of stationary items sold by Shop B in the same month?
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Correct Marks: 1 Wrong Marks: 0.33
Study the given table carefully and answer the following question.

Number of candidates from five different states A, B, C, D and E who appeared for an interview for a certain
post in a bank over the vears.

States | A B C D E
Years
2014 300 | 410 | 280 |320 440
20158 400 500 320 | 350 400
2016 450 | 450 | 260 |410 350
2017 500 320 400 | 480 380
2018 430 | 500 | 350 |300 420

The number of candidates who appeared from State E in 2017 is approximately how much percent of the total number
of candidates who appeared from all the states together in that year?
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Question Number : 131 Question Id : 716447881 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The given bar chart shows data pertaining to the production of air conditioners over the years by a company. Study the

graph carefully and find out the approximate percentage drop in air conditioner production between the yvears 2016 and
2017.
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2015 2016
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Options:
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1. = 104
11%

? w X
15%



20%

4.« 2074

Question Number : 132 Question Id ; 716447882 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Study the given graph carefully and answer the following question.

Export and Import of Goods to and from India
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What is the ratio of the total export and import of the good in terms of value in India?
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Question Number : 133 Question Id : 716447883 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Study the given scatter graph and answer the following question.

India's Spices Exports

* 20
X & A0D
® 10 ® 350 . 250
[}
= 300 ® 100
= 180
E o
3 2o 2
a3
108
2007
Yo
* A n5 L

In which year was the value per container the minimum?
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Options:
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3 % 2005
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Question Number : 134 Question Id : 716447884 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
The given area graph shows the profit made by a software company (in thousand GBP) from 2014 to 2018.

Profit in GBP

The profit made by the software company in 2015 was approximately how much percent of the average profit over the
period under review?

RN 2003 e, 2014 Zood 2018 20D 28 FRD6 208 STFoddd ergen (Do 2D0e") arpeod.
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Options:



100%
1. = 100%

89%
3 = 89%

120%
4. » 120%

Question Number : 135 Question Id : 716447885 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



The given line graph shows the number of gaming routers (in thousand numbers) manufactured by five different

branches A, B, C, D and E of a company in the vears 2018 and 2019. Study the graph and answer the following
question.
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How many gaming routers were manufactured by the three branches A, C, and E together in both the vears?
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Options:
266,000

1 % 266,000

328.000
2 % 328,000

272,000
3 o 272,000



300.000
4. = 300,000

Question Number : 136 Question Id : 716447886 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Study the given circle graph carefully which shows the monthly expenditure of a family and answer the following
question.

o Haalth 54
Entertainment, 427
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s Rk \ | \\
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-
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b - Fusl, 48
.
Bill parymant, 39°

Food, 64"

If the total monthly expenditure during the month was Z 60,000, then what was the approximate amount spent on food
and education together?
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Options:
¥ 15,000

1 % 15,000

7 16,900
2 % Z16,900



7 14,500
3 % %14,500

Z 20,300
4. v 20,300

Question Number : 137 Question Id : 716447887 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



The given graph shows the production of Wi-Fi extender devices by three companies X, Y and Z over the yvears. Study
the graph and answer the following question.

Froducition of Wi-Fi Extender Device (in Lakh numbers
) by three companies of X, Y and Z over the vears
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Options:
10,00.000

1. % 10,00,000

1,500,000
2 1,500,000



10,000
3. % 10,000

500.000
4. % 500,000

Question Number : 138 Question Id : 716447888 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



The given bar graph shows the total mumber of pen drives (in thousand) produced by five different branches of a
company: A, B, C, D and E in 2015 and 2016. Study the graph carefully and answer the following question.

Branches of a company

0 10 20 30 40 50
WO OF PENDRIVES PRODUCED{ IN THOUSAND])

m2016 Q2015

The number of pen drives produced by branch A in 2016 is how much percent of pen drives produced by branch E in the
same vear?
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Question Number : 139 Question Id : 716447889 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The given pie chart shows the percentage distribution of the expenditure incurred in manufacturing product A. Study the
pie chart and answer the following question.

Transportation 11%

Direct
maierial
cost
20%

Manufact
uring
cost 3%

Direct
labour cost
15%

Advertise
ment
14%

If 100 units of product A are manufactured and their manufacturing cost amounts to ¥ 10,000, then what should be the
selling price of each product so that the manufacturer can earn a profit of 2024?
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Options:
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3. % %145
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4. % 160

Question Number : 140 Question Id : 716447890 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The given pie chart shows the percentage distribution of the expenditure incurred in manufacturing product X. Study the
pie chart and answer the following question.
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If for a certain quantity of product X, the manufacturer has to pay 10,000 for direct labor cost, then what would be the
manufacturing cost to be paid for product X?
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Z 25,000
1 % 25,000

Z 24.000
2 % %24,000

7 12,000
3 212,000

% 40,000
4. % 40,000

Question Number : 141 Question Id : 716447891 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The goal scored in a semi-final football tournament by 11 players is as follows:

Tod 300,00 BB, 0T, 8.7 %

Which of the following options is the mode of the above mentioned data?
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o
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Question Number : 142 Question Id : 716447892 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The given numbers represent the weights of people on a minibus:
18, 65, 108, 78, 89, 45, 68, 94, 85, 82, 43.

What is the mean of their weights?

RQEIND D0ED 208 DA RS P2er LR ATFIFT00:
18, 65, 108, 78, 89, 45, 68, 94, 85, 82, 43.

a0 e)aNe DTFD Joed?

Options:
70.45

1. v 70.45

68.35
7 % 68.35

3 = 75

80.95
/. % 80.95

Question Number : 143 Question Id : 716447893 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

What is the value of Y if the mean of 8, 9, Y + 2, 10, 2Y — 1, and 2 is 97
8 9.Y +2.10 2¥ — 1. anbain 2 r:m:rsb 20PH0 9 901 Y Densd Joed?

Options:
.

1.% 7



2. 8

3.% 9

10
4 = 10

Question Number : 144 Question Id : 716447894 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the given options will be the median of the given set of numbers?
759,320,211, 17,19, 23,5, 33
QLN 20O 2e0TTaT0e” S0e3ido DB e9NE0H?

FA0 0 2408, W, 1823 5 13
Options:
11

1. = 11

10.5
7 % 10.5

12
3. v 12

17
4 = 17

Question Number : 145 Question Id : 716447895 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



What will be the approximate value of variance of the given set of numbers?
10, 30, 20, 23

N 0B VBV Dy CDOS), WA DED JoB?
10, 30, 20, 23

Options:
30.25

1. = 30.25

90.5
7 % 90.5

51.6
3.« 516

80.9
4. % 80.9

Question Number : 146 Question Id : 716447896 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following options will be the approximate co-efficient of variation of the given data?
{202,204, 206,208,210}

S08 TOS” VYD BTP0To VY, D30 MRS DDPTT Jod?
{202,204, 206,208,210}

Options:
0.0529

1. = 0.0529

0.0251
7 % 0.0251

0.0459
3. % 0.0459



0.0137
4. « 0.0137

Question Number : 147 Question Id : 716447897 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Study the given pie chart carefully which shows the monthly expenditure of a middle class family and answer the
following question.

Fuel, 48°

Entertainment,
420

If the total monthly expenditure was 2 40,000, then what was the amount spent on food and education together?
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Question Number : 148 Question Id : 716447898 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



The given bar graph shows the number of hard drives (in thousand numbers) manufactured by five different companies
A, B, C,D and E in the years 2018 and 2019. Study the graph and answer the following question.
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How many hard drives were manufactured by the three companies: B, C and D together in both the years?
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Options:
354,000

1. % 354,000
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2 & 320,000

224,000
3« 224,000



112,000
4. % 112,000

Question Number : 149 Question Id : 716447899 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
The given bar graph shows the profit made by a certain company (in thousand $) from 2015 to 2019,

Profit in thousand $

wsand 5

Profit in tho

280

2017 J018 2019

FiEars

The profit made by the company in 2018 was approximately how much percent of the average profit over the period
under review (2015-2019)?
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Options:
107.5%

1. = 107.5%
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2. 0% N3Z

08.15%
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Question Number : 150 Question Id : 716447900 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Study the given pie chart carefully which shows the expenditure in constructing a house and answer the following
question.

Architectars, 427
Elwctrical inem, 54 Wooden work,

Concrate, 647

If electrical items and wooden work together cost ¥ 10 lakhs, then what is total approximate amount spent on
completing the construction of the house?
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Options:
22.5 lakhs

1 = 22.5 vgen

45 lakhs

7 % 45 vz
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50.25 exgen



